INEETH EERTILR o T £ HE A &K B K %
> Fb |t e (3t ) (12.97) - N PR BAL - T, %) , £ "
X E 29 S ) iR
¥k 29 £ OE| s [pesens ol " THOTERE | THBEE | THEE
(e g ) (0) ARERS A ST y—— )
. ) ” AT.97)| [ i At ot 0> o 002 @ 1,923,616 1,945155| 1,979,113 @OWRiEEroeol) — REAHGHALTM)
’k B o & S < SERAMRILE o0 74| [ D% 2 ) DI EE AT RSB b (AR ) 5 @ 0 0 0 R 20069
»e e 25.0)|  |am e oM T L3 B SIS 3 833,958 809,693 gosar8| '
L (A G e 2 ' ' '
. 64.1] | mEERLSOR D LM ORI T T L 3R B A I A T A E 4 %) 57,203 59,716 59,414 )
| R R o Jile ol 6,602
D ® o e ' (350.0)| |WEs i AIcES< KO S BAEBRICET S b0 ©) 0 0 0
2 HE K ¥ b % 7 [~ A ORIT- ®) 142 143 143 )
- T EERRIS 620,835
X 5y PREAE(HAT - T, %) )
ST IF 2SI AR B MU B 0 1,266,849 1,425,762 1,518,260
+
b A A) — RSO = P 152,888
TREAANEIC & 0 SR BT B B S 7= i A ® 660,263 591,416 542,280
THRIEAA ®) — PRI AR E 5,084
FEEHTIEIC & 0 SSUSM B B C A S N e R R & ©) 1,817 1,814 1,821
S © (5) D R (A ik B O 0ol PRHE (AL T )
SRR ik pa—
ANEE (()~(6) — (7)~(9)) O 885,990 795,715 781,787
sy | U (10) | 13,269,496| 13,153,888| 12,783,511
A (D) 12,783,511
(1)~(9) i @1 | 1,928,929| 2,018,992 2,062,361
NEF(10)—(11) (8) | 11,340,567 11,134,896/ 10,721,150
EERTHER (A)+@)+(C) /(O — — — —
WrEHe 70 BUEASRTTAMER IR (A)/(B)*x100 © 7.81257 7.14614 7.29201
B O R E KR F %R BEARLE |EEAEREE (03 7.4
B G e D TN
% ETXL —fREE (1) 911,742 X 5 PEAE (AL T, %) = o W R
% j A @ 2,136 SRR HE R — i 2 O M (LA o) 25,980,522| (3)PWAR(LERR o) BEARCER:TF M)
X ® TS EUAT 510 35 < ST AR ® of
GE R 335,923
USER = 2218 (4 1,214,621 — g [ BT EAAD LG OO TRITRIZN S5 2T 1 LA ®) 12,402,992
" fé s ==ty (5) 240,749 — éﬁ HLESE D 7 5 0 T4 BT 36§ % M R R 00 £ P AR () 56,577 P 102,814
4 | £ PR ,
= Zﬁﬁ ©) BT S TR 5 B — A U RAE ®) 3,107,158
2 %
A @ BNTHE N DR B — At A BAA ®) o . )
2 - R/SiE S 2TIP 8,900,901
g ®) AR ul 0
5|y | Tkl R 2t © 31,659 — KA DU B AR TR A 5 5 LR R oD — A 2 7 00 AU RAARE ®) 0 ] )
£ i L — AR TR 2,905,080
E T Bt e e (10) 13,093 — SR04 HE S DT 4 T HE AL A IRAE ©) 6,879,739
| 0L | s e g2t @y 4946  —  |mEomAram (10) 036,231 e 158274
% . , " . IRl e S IR ,
* (12) T REHAE AT AR B HE R B B A LA 1) 26,851,201
. E AR AT CREE)  (13) 85,813 ANE BRI — (9)~(12)) ) 6,880,078| (6)PMAR(LubIkEGZ o) PEAHAL: )
N o |Ermmmsnan mwe) 19) 12,969 A 12) 12,783,511
£
7z | ML et e e 2 (15) 4,666 , - )
LT ST IF 2T AR B MU B (13) 1,518,260
W) g [rasmmsssmeas mszws  16) 100,325
* = ERRSRERISH ( HexwE)  (17) 249
ST I (9 — A
G P L 0 S B AU A S N A MR (14) 542,280
WREETRTH (1)~(17) ¥ *) 0 kAR
= IR ~
- BHEHTIEIC & 0 SSUSM B B C A S N e R R & (15) 1,821
A ®) | 12,783,511 (A B*100 sl
X .
ERERERTHE (A)./(B)x100 — ANEE CHEUER R (12) — A A R4 (18) ~ (15)) (8) 10,721,150

SO 29M 1,

BTORKFHIBVWTRFLR>TVD 720, FERTHRE MRS RERTIR - BERRLRT —RRICR>TOET,




